R#TAN XFX R#HSE EE 02

1. RXOXZREBE L. (SHh20™, AfK35H, Bk508, C#k14520% )

(1) 3a+6 (2) ab—ac

(3) 4aq — 8b + 24¢ (4) abc — ab — be

2. ROAZRBOREE. (SHK30F, Afkds B, Bi14y, Ok 17408 )

(1) 4ab — 6bc (2) —ab —ac — ad

(3) 16a2 — 12ab (4) —ax? — 2d’z + 3azx
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3. ROAERE AL (S0, Ak35%, Biks50%, C #1420 )

(1) 3a-9 (2)  ab+ad

(3) 8a — 12b + 24¢ (4) abc + ab — ca

4. RORXEREEE L. (S35, AR5, Bik1320%, C#H25)

(1)  6ab+ 8bc (2) —ab—af +aj

(3) 30a? + 54ab (4) —3a3z — 3azx? + 6a3x®
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REFAL XFERX EHSR BB 02 RSHES

1. RXOXZREBE L. (SHh20™, AfK35H, Bk508, C#k14520% )

*EH R - RROERE
BHIEPTREDOA X =Y CTh o7, HBOIRIL BIDEDAA—Y T, ()HN2EZ5.

(1) 3a+6 (2)  ab—ac
=3(a + 2) =a(b—c)

(3) 4a — 8b + 24c (4) abc — ab — be
=4(a — 2b+ 6¢) =b(ac—a — ¢)

2. XOAXEREREX. (SHh30F, Afk4s T, Bik14r, CHk15340% )

(1) 4ab — 6bc (2) —ab — ac — ad
= 2b(2a — 3c¢) =—a(b+ c+d)
(3) 16a? — 12ab (4) —azx? — 2d®z + 3azx
= 4a(4a — 3b) = —ax(x 4+ 2a — 3)
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3.

4.

ROAZ KB RE L. (SH20, A#35H, Biks50®, #1420 )

(1) 3a—9 (2)  ab+ad
=3(a — 3) =a(b+d)

(3) 8a — 120+ 24c (4) abc+ ab — ca
=4(2a — 3b + 6¢) =a(bc+b—c)

ROXZ KRBT L. (S35, Afkss#, B#k143208, C#24)

(1)  6ab+ 8bc (2) —ab—af +aj
= 2b(3a + 4c) =—ab+f—3)

(3) 30a? 4 54ab (4) —3a3z — 3ax? + 6a%23
= 6a(5a + 9b) = —3ax(a? + = — 2az?)
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